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Y=240 (dx=nan, do=nan)
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pfsArm
=== (x=nan, g=nan)
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= Trace
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Y=240 (dx=nan, do=nan)
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=== (x=nan, o=nan)
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f=1309, X=4005.7

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=-9.6e-03, do=-1.5e-01) Y=963 (dx=-2.5e+01, do=nan)
pfsArm pfsArm T pfsArm pfsArm
=== (x=nan, o=nan) === (x=nan, o=nan) 1 = (x=4009.04, 0=1.14) T = (x=4006.75, 0=1.16)
calExp calExp -1 1 calExp calExp
T — (x=4014.69, 0=2.22) - = (x=4012.45, 0=0.37) = (x=4009.03, 0=0.99) 1 a1 = (x=3981.39, g=nan)
— Residual*s m— Residual*s m—Residual*5 A m— Residual*5
= Trace == Trace == Trace
. . g t ] 1 L
— — |—
T T T T T T T T T r T J L |
Y=1204 (dx=5.0e-01, do=nan) Y=1445 (dx=-5.4e-01, do=2.4e+00) Y=1686 (dx=-4.9e-01, do=1.8e+00) Y=1927 (dx=-1.0e+00, do=1.5e+00)
T pfsArn: Wi T pfsArm 1 1 pf;Arrr: 111
= (x=4004.82, 0=1.13) I = (x=400321, 0=1.21) _ = (x=4001.97, 0=121) -
calExp calExp calExp
- = (x=4005.32, 0=nan) — (x=4002.67, 0=3.62) = (x=4001.48, 0=3.01)
- — Residual*s m— Residual*5 m—Residual*5 g PRAIM
B = Trace T | = Tace = Trace OpqPo2.53, f=1008)
= - _ 4 calExp
_ - = (x=4000.50, 0=2.60)
| m—Residual*s
- I - Trace
{H4FL - J4ELE-H IL {4dEH-H- _-_-_.'- ~HLH-H-
T T B, T T I
=2168 (dx=1.2e-01, do=1.3e+00) Y=2409 (dx=8.2e-01, do=1.5e+00) Y=2650 (dx=3.5e-01, do=1.1e+00) Y=2891 (dx=-9.6e-01, do=1.4e+00)
T pfsArm pfsArm pfsArm U pfsArm
1 = (x=4001.03, 0=127) = (x=4000.70, 0=122) == (x=4000.78, 0=1.13) B = (x=4001.59, 0=121)
1 calExp T calExp calExp . [ calExp
. = (x=4001.16, 0=2.62) = (x=4001.52, 0=2.72) 1 == (x=4001.13, 0=2.18) === (x=4000.63, 0=2.66)
I e Residual*5 =] e Residual*s = Residual*5 I e Residual*5
1 - Trace - Trace - Trace 1 - Trace
| 1 4 J J [
| I
1 _\J- I
- L] o d e B I — — - et el s e — e e — - - L ] & o - — — - Dl S m— — I — —
T [ i
T 1 T T T T T T I T
Y=3132 (dx=-1.4e-01, do=1.1e+00) Y=3373 (dx=-1.0e+00, do=1.1e+00) Y=3614 (dx=-1.1e-01, do=1.2e+00) =3855 (dx=1.1e+00, do=5.0e-01)
7] pfsArm T IJ pfsArm 7 J pfsArm
= (x=4002.04, 0=1.12) | 1 . = (x=4005.07, 0=1.07) - = (x=4007.38, 0=1.07)
calExp | calExp calExp
=== (x=4001.89, 0=2.25) T == (x=4004.96, 0=2.30) _ === (x=4008.44, 0=1.58)
w— Residual*5 1 — PSAMM w—Residual*s =t I 3 e Residual*5
- - Trace 1 (x=40p333. py1-08) - Trace - Trace
I e calExp. -
. (x=4002.29, 0=2.23) s
I = Residuals 1 |HL |-r
=R e
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I B e e 1 R L ARITEROR
1 =1
T T

3990 4000 4010 3990 4000 4010 3990 4000 4010 4020 4000 4010 4020



4000

3500

3000

2500

1500

1000

500

3990

4000

[} 1500

Residual

- 1000

500

-500

—1000 |

—1500

—2000 - T
3990 4000

X (pix)

f=1310, X=3999.5

750

- 500

- 250

- —250

-500

—1000

il
et

s 1 T

m

T T ]

fitm

_5_

o

e,

i
T

At

Shift measure

-50
Chi+ - Chi-

Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



f=1310, X=3999.5

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan) Y=722 (dx=1.1e-01, do=-1.3e-01) Y=963 (dx=-2.3e+00, do=nan)
pfsArm pfsArm N T pfsArm - pfsArm
=== (x=nan, o=nan) = (x=nan, o=nan) 1 = (x=4002.78, 0=1.14) = (x=4000.35, 0=1.23)
calExp calExp 1 calExp 1 [l calExp
-1 = (x=4010.71, 0=1.35) — = (x=4005.15, 0=1.14) = (x=4002.89, 0=1.01) - = (x=3998.07, o=nan)
— Residual*s — Residual*s 7 — Residual*s - — Residual*s
= Trace = Trace = Trace = Trace
T T T T T T T T T 1
Y=1204 (dx=5.0e-01, do=nan) Y=1445 (dx=4.3e-01, do=nan) Y=1686 (dx=-4.5e-01, do=nan) Y=1927 (dx=-3.8e-01, do=2.1e+00)
T = T - u T — —
t | :j;s:grgs.zzs, 0=122) J i ] - ?;s:gg‘wol 0=1.14) [ 1 = ?:s:grg?zs.sa 0=1.11) J n | - f:igrgs‘as.oa, 0=1.13)
- o calExp . =in 1 calExp 1 calExp i calExp
- = (x=3998.96, o=nan) = (x=3997.46, o=nan) = (x=3995.44, g=nan) 1 = (x=3994.66, 0=3.22)
= Residual*5 = Residual*5 I = Residual*5 e Residual*5
T - = Trace = Trace - = Trace = Trace
[ -1 I .
1 '
__IZ i RLCCinl b | UM 1 H4F=H U .
I-‘-l IJ !.l T = -I L T 1 T T T Ll -L T T I-l
Y=2168 (dx=1.7e+00, do=1.8e+00) Y=2409 (dx=-3.7e-01, do=2.1e+00) Y=2650 (dx=-2.0e+00, do=1.4e+00) Y=2891 (dx=3.6e-01, do=2.2e+00)
pfsArm I pfsArm pfsArm pfsArm
= (x=3994.51, 0=1.07) | = (x=3994.31,0=1.14) == (x=3994.38, 0=1.12) T - == (x=3994.93, 0=1.07)
calExp -L 1 calExp calExp 1 calExp
L = (x=3996.17, 0=2.87) a = (x=3993.94, 0=324) T . = (x=3992.37, 0=2.56) = (x=3995.30, 0=327)
e Residual*5 - 4 e Residual*5 1 1 e Residual*5 e Residual*5
- - Trace - - Trace - Trace - Trace
H L - L 1F
1 =
| | l - 'L
T T —LI —I T T T L T T T T q T 0 T T T r|
Y=3132 (dx=1.2e+00, do=6.3e-01) Y=3373 (dx=1.5e-01, do=9.3e-01) Y=3614 (dx=2.4e-01, do=1.4e+00) Y=3855 (dx=-2.2e+00, do=nan)
| Tl
pfsArm pfsArm pfsArm pfsArm
= (x=3995.77, 0=1.09) |J = (x=3997.01, 0=1.88) = (x=3998.83, 0=1.14) | = (x=4000.83, 0=0.56)
calExp ” calExp calExp | 4 calExp
= (x=3996.94, 0=1.71) == (x=3997.16, 0=2.81) = (x=3999.07, 0=2.51) = (x=3998.61, 0=nan)
= Residual*s m— Residual*5 = Residual*s ! m—Residual*5
] == Trace T - Trace | - Trace | - Trace
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]
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f=1311, X=3993.3

Y=240 (dx=nan, do=nan) Y=481 (dx=nan, do=nan)
pfsArm pfsArm
=== (x=nan, o=nan) === (x=nan, o=nan)
calExp calExp
== (x=4003.12, 0=5.45) - (x= 3999 61, 0=1.04)
— Residual*s m— Residual*s
== Trace == Trace

Y=1204 (dx=9.6e-02, do=nan)

Y=1445 (dx=-1.5

e-01, d0=r'1an)

Y=722 (dx=1.5e-0

1, do=-1.7e-01)

Arm
= (x 3996.51, 0=1.22)

— (x 3996 66,.0=1.05)
m— Residual*s
== Trace

e

M

' Y=1686 (

dx=-5.2

eOl do= nan)

pfsArm T I pfsArm r q
- = (x=3992.32, 0=122) 1 1 = (x=3990.89, 0=1.15)
calExp calExp n
= (x=3992.41, o=nan) = (x=3990.74, o=nan)
m— Residual*s. m—Residual*s — PSATM
- Trace i - Trace (x 3989.76, 0=1.16) B
B caIExp
= (x=3989.23, o=nan) a1
—) — Residual*s
J .. 'uf Hlh
115 | I: I i F-Wl- ] -
i
T -‘JT !.Lr T C I-l 11 IJ T T T 1
=2168 (dx=-2.1e+00, do=2.3e+00 Y=2409 (dx=-4.2e-01, do=2.1e+00) Y=2650 (dx=8.9e-01, do=1.5e+00)

il

.

pfsArm
= (x=3988.25, 0=1.26)

calExp
= (x=3986.15, 0=3.59)
= Residual*5
w— Trace

pfsArm
= (x=3988.08, 0=1.24)

p
= (x=3987.66, 0=3.37)
e Residual*5

calEx

Trace
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pfsArm
= (x=3988.02, 0=1.38)

calExp
m—(x=3988.91, 0=2.87)

= Residual*5 u

][]

== Trace

_F 11

dx=2.2e-'+-00, do=nén)

Y=3614 (dx=-9.9e-

02, do=1.7e+00)

T T T
Y=3132 ( =3373 (dx=2.7e-01, do=1.4e+00)
pfsArm
= (x=3988.06, 0=nan) 1 = (x 3990 96, 0=0.98)
calExp |
- = (x=3990.25, 0=2.76) = (x 3991 23,0=2.42)
== Residual*5 . I = Residual*s
- Trace | - Trace
]
]
]
BP0 1 Iy | 0 1 I I
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T pfsArm
1 — (x=3992.95, 0=1.03)
| calExp
= (x=3992.85, 0=2.69)
I e Residual*s
1 = Trace
|
|
1
1
b e - - -
T
-~ 1

3980

3990

4000

3980

3990

4000

3980 3990

4000

Y=963 (dx=1.6e-01, do=nan)

= (x=3994.39, 0=nan)
m— Residual*s
== Trace
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T C T
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T i - (:SA3938 87, 0=1.18)
11 calExp
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== I: m— Residual*s
== Trace
7] s H
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| O
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pfsArm
== (x=3991.18, g=nan)
calExp
= (x=3990.06, 0=2.56)

e Residual*5
== Trace

r
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pfsArm [J
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Y=240 (dx=nan, do=nan)

f=1312, X=3987.0

Y=481 (dx=3.0e+00, do=8.0e-01)

pfsArm
=== (x=nan, o=nan)

calExp
= (x=3996.85, 0=nan)

= Residual*5

pfsArm
(x=3990.00, 0=0.00)

|

calExp
= (x=3992.97, 0=0.80)
m— Residual*s

Y=722 (dx=5.0e-02, do=-9.6e-02)

T pfsArm
| ™ (x=399027,0=112)

1 calExp
= (x=3990.32, 0=1.03)

e Residual*5

T
|
1
1
= Trace l = Trace w Trace
1 .
7] 1
1
- et el —— — I -
1
T T T T 1 T |I T
Y=1204 (dx=7.0e-02, do=-2.8e-01) Y=1445 (dx=5.9e-02, do=-7.1e-01) Y=1686 (dx=1.4e-01, do=nan)
pfsArm T pfsArm T fsArm
| = (x=3986.11,0=1.11) 1 = (x=3984.63, 0=1.11) | = (x=3983.450=1.10)
1 calExp E calExp calExp
= (x=3986.18, 0=0.82) = (x=3984.69, 0=0.40) -1 = (x=3983.59, o=nan)
- = Residual*5 = Residual*5 = Residual*5
= Trace = Trace = Trace
iy
T T L T T T T T
Y=2168 (dx=3.2e-02, do=nan) Y=2409 (dx=2.5e-02, do=nan) Y=2650 (dx=-1.7e-02, do=nan)
T pfsArm T pfsArm pfsArm I
| = x=3982.11,0=1.07) I = (x=3981.92,0=1.08) = (x=3982.02, 0=1.07) 1
1 calExp calEx calExp 1
= (x=3982.15, 0=nan) == (x=3981.95, 0=nan) = (x=3982.01, 0=nan)
= Residual*5 = Residual*5 | === Residual*5 I
- Trace - - Trace - Trace h
I 1
[ i L s 4 u
T T
T i T T T >
Y=3132 (dx=1.1e+00, do=nan) Y=3373 (dx=-5.3e-02, do=nan) Y=3614 (dx=1.5e+00, do=nan)
T pfsArm pfsArm T T pfsArm
- | = (x=3983.29, 0=1.05) == (x=3984.54, 0=1.06) | = (x=3986.27, 0=1.04)

calExp
= (x=3984.35, 0=nan)
e Residual*5
= Trace

Ty

calExp

(x=3984.49, o=nan)
e Residual*5
| Trace
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I Residuars
== Trace

Y=1927 (dx=-2.6e-02, do=nan)

pfsArm

= (x=3982.66, 0=1.10)
calExp

= (x=3982.63, o=nan)

= Residual*5

== Trace

] 1]

Y=2891 (dx=2.7e-01, do=nan)

pfsArm
= (x=3982.47, 0=1.05)

calEx
= (x=3982.74, g=nan)

e Residual*5
== Trace

A1

Y=3855 (dx=-1.6e-01, do=-1.9e-01)

pfsArm
= (x=3988.53, 0=1.07)

calExp
= (x=3988.36, 0=0.88)
= Residual*s
w—  Trace
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Y=240 (dx=nan, do=nan)

f=1313, X=3980.8

Y=481 (dx=-2.8e+00, do=5.1e-01)

Exp
- (x= 3990 38, 0=1.73)

Iy

pfsArm
= (x=3985.47, 0=1.71)

calExp
= (x=3982.69, 0=2.21)
m— Residual*s

== Trace

Y=722 (dx=1.5e-01, do=-2.5e-01)

Y=1204 (dx=-6.2e-01, do=nan

I
I
1
1
1
1

pfsArm
| = (x=3984.11,0=118)

calExp

= (x=3984.27, 0=0.94)
m— Residual*s

== Trace

Y=963 (dx=6.4e-01, do=nan)

- pfsArm
== (x=3980.03, 0=1.32)

calExp
= (x=3979.41, o=nan)
= Residual*5

== Trace

] tI

I
el B B il

01, do=1.3e+00)

pfsArm
== (x=3978.47, 0=0.90)

calExp
— (x=3978.19, 0=2.24)
e Residual*5

== Trace

pfsArm

== (x=3981.07, o=nan)

calExp
= (x=3981.70, 0=2.17)
e Residual*5

== Trace

fHJHf

Y=2409 (dx=3.5e-0

dx=-3.7e+00, do=8.9e-01)

3

pfsArm

= (x=3977.29, 0=1.31)
calExp

= (x=3973.59, 0=2.20)

* mmm Residual*5
= Trace

H-t+H=1F

, do= 1. 0e+00)

pfsAm
"TT (x 3976.48, 0=1.05)
calExp
= (x=3975.81, 0=2.09)
== Residual*5
= Trace

, do=1.1e+00)

pfsArm
= (x=3975.88, 0=0.91)

calExp
= (x=3976.11, 0=2.28)
w=m= Residual*s
==  Trace
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= Trace
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pfsArm pfsArm
m— (x=3977.08, 0=1.04) m—(x=3978.33, 0=1.06)
calExp calExp
—(x=3976.92, 0=2.17) - (x=3978.09, 0=1.99)
e Residual*5
— Trace
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= (x=3980.03, 0=1.06)

calExp
= (x=3980.20, 0=2.05)
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02, do=8.6e-01)

pfsArm
= (x=3976.28, 0=1.04)
calExp
(x=3976.29, 0=1.90)
e Residual*5
= Trace
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f=1314, X=3974.5

Y=240 (dx=nan, do=nan) Y=481 (dx=-2.8e-01, do=nan) Y=722 (dx=-3.0e-03, do=-1.9e-01) Y=963 (dx=4.3e-01, do=nan)
T T .
— gi]rgr‘\, o=nan) 'L - F:igrgzzo.sz, 0=122) — 23;5:\3?77_87' 0=1.14) _r | {)xfigr;nmsz, 0=1.18)
 calExp — calExp o calExp 1 — calExp
— (x=3983.86, 0=1.72) - (x=3980.23, 0=nan) (x=3977.87, 0=0.95) (x=3975.95, g=nan)
m— Residual*s -l — Residual*5 m— Residual*s m— Residual*s
= Trace == Trace == Trace . == Trace
i | Ik I_ i L
1
J- L ] -| I
] - = - - — — - I L
- -1 |-| T -
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Y=240 (dx=nan, do=nan) Y=481 (dx=1.9e-01, do=-5.5e-01) Y=722 (dx=1.7e-01, do=-3.8e-01) Y=963 (dx=1.9e-01, do=-5.8e-01)
pfsArm T pfsArm T pfsArm T pfsArm
== (x=nan, o=nan) - I = (x=3949.29, 0=1.09) | = (x=3946.57,0=1.11) I = (x=3944.35,0=1.09)
calExp calExp calExp T 1 calExp
- = (x=3952.81, 0=2.78) = (x=3949.48, 0=0.54) = (x=3946.74, 0=0.74) = (x=3944.54, 0=0.52)
— Residual*5 — Residual*s — Residual*s — Residual*s
- Trace = Trace 1 = Trace = Trace
T T = -! T n T T T T T T T T T
Y=1204 (dx=-4.9e-03, do=nan) Y=1445 (dx=3.3e-01, do=nan) Y=1686 (dx=2.0e-01, do=nan) Y=1927 (dx=2.5e+00, do=nan)
N I pfsArm pfsArm T 1 'pfsArm I I 1 pf;Arm 1
| = x=3942.50,0-1.12) = (x=3941.06, 0=1.07) = (x=3939.94, 0=1.08) 1 T 1 = (x=3941.17, 0=1.45)
calExp calExp calExp 1 calExp
= (x=3942.49, o=nan) = (x=3941.39, o=nan) = (x=3940.14, o=nan) = (x=3943.67, o=nan)
= Residual*5 e Residual*5 == Residual*5 I e Residual*5
i - Trace | = Trace | = Trace 1 - Trace
7] 1
1
1 1
4 i O 4 Ak il It . 4 -+__ -
J | 1
T T T 0 T T r' |I 1 J- . |r -L T 1 T
Y=2168 (dx=4.4e-01, do=nan) Y=2409 (dx=-1.7e+00, do=2.8e+00) Y=2650 (dx=8.4e-01, do=nan) Y=2891 (dx=1.2e+00, do=4.1e+00)
T I pfsArm pfsArm
| ™ (x=3938.58, 0=1.07) | = (x=3938.85, 0=1.02)
calExp 1 -I_ calEx
i = (x=3939.02, 0=nan) . = (x=3940.02, 0=5.14)
m— Residual*5 — PFSATM — PFSATM m— Residual*s
- Trace 1 (x=3938.42, 0=0.95) - (x=3938.47, 0=1.02) n L =] e
- i | = (c:LE3x9p36.72, 0=3.78) ™ (cfle;gpm.al, o=nan)
7] - Ily = Residuals ] — Residuals
0| = Tace - Trace
_ R i e e e P _
A | Tl A TP 1 IECE TG [T
Y=3132 (dx=-2.0e+00, do=2.2e+00) Y=3373 (dx=-8.8e+00, do=nan) Y=3614 (dx=-1.1e+00, do=8.5e-01) Y=3855 (dx=-3.5e+01, do=nan)
pfsArm pfsArm T o pfsArm T T pfsArm
= (x=3939.68, 0=0.93) = (x=3940.90, 0=0.85) =11 B | = (x=3942.11,0=153) I | |™ (x=3946.37, 0=0.90)
. calExp calExp | a | calExp | calExp
= (x=3937.66, 0=3.13) = (x=3932.13, o=nan) = (x=3941.05, 0=2.39) = (x=3911.82, o=nan)
'n me= Residual*5 e Residual*5 L I = Residual*s T I e Residual*s
- Trace = - Trace 1 - Trace I]|= tace
E | . I 1
1 I 7 1
| I 1
- LR I - —— - - — — — e f— - el e - — I — — — - - e el I-l- — — —
AT qLIFIE I ¥
1
T T T T T
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Y=240 (dx=nan, do=nan)

Y=481 (dx=-4.3e-01, do=8.7e-01)

f=1320, X=3936.8

pfsArm
=== (x=nan, o=nan)

calExp
- = (x=3945.77, 0=1.97)
— Residual*s

w | Trace

pfsArm
= (x=3942.97, 0=1.04)

calExp
= (x=3942.54, 0=1.91)

e Residual*s
= Trace

-1t14H---- 4

Y=722 (dx=1.0e+00, do=nan)

pfsArm
(x=3940.37, 0=1.20)

calExp
== (x=3941.38, 0=nan)

e Residual*5
== Trace

calExp
= (x=3937.23, 0=nan)

calExp
— (x=3934.78, 0=2.13)

Y=1204 (dx=9.2e-01, do=nan) Y=1445 (dx=-2.9e-02, do=1.1e+00)
pfsArm I = -1 1 pf;Arm 1
= (x=3936.31, 0=1.16) 1 = (x=3934.80, 0=1.05)

2e-01, do=8.6e-01)

Y=963 (dx=-3.1e-01, do=1.8e+00)

pfsArm
== (x=3937.76, 0=0.57)

— calExp

= (x=3937.45, 0=2.36)
= Residual*s

== Trace

T

il

i

.I'-

Y=1927 (dx=-2.9e+00, do=2.0e+00

)

pfsArm
== (x=3933.55, 0=127)

calExp
= (x=3932.73, 0=2.12)

pfsArm
= (x=3936.00, 0=0.00)
calExp
= = (x=3933.07, 0=2.04)
= Residual*5
= Trace

!

| === Residual*5 | == Residual*5 = Residual*5
= Trace N = Trace = Trace
- - = bt - - — e e e e e e e e e e B ok e | o Ot ] Y = P
T T T T T T T T
Y=2168 (dx=-8.0e-01, do=1.5e+00) Y=2409 (dx=7.3e-02, do=8.6e-01) Y=2650 (dx=-1.6e-01, do=8.6e-01)
pfsArm I- 7 u T pfsArm
| == (x=3931.96, 0=0.99) | = (x=3932.21, 0=1.08)
calExp 1 J calExp
= (x=3931.16, 0=2.45) L = (x=3932.05, 0=1.94)
m— Residual*s L — PTSAIM m— Residual*s
- Trace [ (x=3932.15, 0=1.09) | = Tace
T | o o Sy
I | = Residual*s
I = Trace
- —— — — I — - - — e — - — e = Bl el ol e - - — o o — — — s m bl e e
T T
T T T T T
Y=3132 (dx=-4.5e-01, do=1.1e+00) Y=3373 (dx=-7.2e-01, do=1.0e+00) Y=3614 (dx=4.4e-02, do=8.8e-01)
L rm -
! “ d | | — D52, 0m1.10) I_l “
- | calExp
= (x=3933.80, 0=2.11) T
pfsArm I m— Residual*s -} pfsArm
(x=3933.35, 0=1.11) | -1 - Trace (x=3936.19, 0=1.08)
calExp I calExp
- = (x=3932.90, 0=2.24) = (x=3936.24, 0=1.95)
— Residual*s | — Residual*s i
w | Trace I == Trace
1 _H__l_.l_ ELEL-FL ) I 1 - 1 .I_I__HH_. Y N S o
T T T T
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Y=2891

(dx=-1.4e+00, do=9.7e-01)

IR

L

pfsArm
= (x=3932.55, 0=1.17)

calEx
— (x=3931.16, 0=2.13)

e Residual*5
= Trace

-

=<
I

3855 (dx=4.8e+00, do=2.3e+00)

pfsArm
= (x=3935.00, 0=0.00)

calExp
= (x=3939.83, 0=227)
= Residual*5
= Trace
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1321, X=3930.5
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f=1321, X=3930.5

Y=240 (dx=nan, do=nan) Y=481 (dx=-8.0e-01, do=7.7e-01) Y=722 (dx=1.8e+00, do=nan) Y=963 (dx=—2 3e-01, do=7.9e-01)
pfsArm -~ L pfsArm - pfsArm T B -1 T
=== (x=nan, o=nan) = (x=3936.71, 0=122) = (x=3934.14, 0=1.15) 1 1
calExp calExp calExp 1
- —(x= 3940 31, 0=1.89) m—(x=3935.91, 0=2.00) = (x=3935.94, o=nan) L - |
s Residual*s m— Residual*s —| = Residual*5 1
w | Trace n == Trace == Trace - (x 3931 68 o1 B2 l
. I r— (x=3931‘45, 0=2.17) I
- B | = Residual*s 1
I ™ = Trace l
1 B 1 ] - % i AN ] _--_|_H|.__l..__-....._
1 1
T T T T T I I o lJ T J 1 r T L
Y=1204 (dx=3.4e-01, do=nan) Y=1445 (dx=-2.2e-01, do=8.2e-01) Y=1686 (dx=-9.1e-01, do=1.0e+00) Y=1927 (dx=2.5e+00, do=1.5e+00)
prsAm ]J J Ill T oeam T eam } pfsAm
— = (x=3930.11, 0=1.14) = (x=3928.56, 0=121) = (x=3927.47, 0=1.15) = (x=3923.43, 0=0.49)
calExp calExp calExj calExp
= (x=3930.46, 0=nan) = (x=3928.35, 0=2.03) - (x= 3926.56, 0=2. 15) -1 = (x=3925.93, 0=1.95)
= Residual*5 1 a === Residual*5 e Residual*5 = Residual*5
= Trace - = Trace ] == Trace = Trace
§ |l Uk 1 - B Y Y B +1-}
L1
1 b -
. A L L oo dd dd Ll oot A _LdLdeL -
1
T II = T T T T T T
Y=2168 (dx=-1.2e-01, do=1.3e+00) Y=2409 dx—-2 3e- 01 do=8. 4e-01) Y=2650 (dx=-3.7e-01, do=1.0e+00) Y=2891 (dx=2.3e-01, d0=9.6e-01)
- pfsArm IJ I T
= (x=3926.14, 0=1.12) 1
™7 ?afaxgze 02, 0=2.43) | | 1
ol Resiguars| | -L i — pfsAm - 1 - ___ pisAm
- Trace (x 3925 97, 0=1.12) (x=3926.03, 0=1.12) 1 (x 392640, 0=1.11)
calExp calExp
= (x=3925.74, 0=1.95) | ™= (x=3925.66, 0=2.13) 1 I |x:3926.s3, 0=2.07)
T e Residual*5 == Residual*5 T = Residual*5
- Trace - Trace = Trace
- - — — vl e —— — - - —— LR b Bl o o b e d - — v — — — e - [ - — el —— — I-- - - -
] [ A
Y=3132 (dx=-1.9e-01, do=9.9¢-01) Y=3373 (dx=-2.2e-01, do=1.0e+00) Y=3614 (dx=-7.0e-02, do=9.6e-01) Y=3855 (dx=3.8e+00, do=-4.1e-01)
T .
u ! IJ LI - 1 — f;s:zgo.aa 0=1.59)
| - calExp
1 (x=3934.10, 0=1.18)
pfsArm I pfsArm 1 pfsArm m— Residual*s
= (x=3927.17, 0=1.10) 1 = (x=3928.33, 0=1.10) = (x=3929.97, 0=1.11) - e
ol calExp I ol calExp . calExp -1
(x=3926.98, 0=2.09) - (x=3928.11, 0=2.13) (x=3929.90, 0=2.07) -
7| =— Residual*s 1 —Residual*s | == Residual*s
= Trace l w | Trace == Trace - 1
1 -
| 'H"'H""'"" I '”'"'H" TTIAE] H"H" T 1t
1
T T T T T T
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f=1322, X=3924.2

Y=240 (dx=nan, do=nan) Y=481 (dx=3.2e-01, do=6.3e-01) Y=722 (dx=4.6e+00, do=nan) Y=963 (dx=-6.7e-01, do=7.7e-01)
pfsArm T pfsArm pfsArm pfsArm
=== (x=nan, o=nan) = (x=3930.43, 0=121) = (x=3927.79, 0=1.17) = (x=3925.59, 0=1.16) 1
calExp I.- calExp calExp calExp ’- [l I_
1 = (x=3933.04, 0=1.85) i = (x=3930.75, 0=1.84) = (x=3932.36, 0=nan) = (x=3924.92, 0=1.93)
— Residual*s m— Residual*s — Residual*s e Residual*s I
= Trace = Trace =] == Trace 7| = Trace l
. [ | |u [
7] I
.I I
i M |
111=--rF11ta-rr-1t1- . - J - - “-rr-r1-——-1-
T T T T T [ = T T 5
Y=1204 (dx=-3.1e+00, do=1.0e+00) Y=1445 (dx=-4.3e-01, do=7.9e-01) Y=1686 (dx=4.2e- . Y=1927 (dx=2.3e+00, do=4.3e-01)
— - = T — -
= F;iArsan;Aoo, 0=0.83) 1 —LI 1 — z{imgnum, 0=1.43)
calExp i . 1 T calExp
_| = (x=3920.90, 0=1.84) = (x=3920.12, 0=1.87)
m— Residual*5 — PFSATM I e PFSATM m— Residual*5
- Trace (x=3922.34, 0=1.15) 1 (x=3921.24, 0=1.14) N |
— alixp 1 — calExp i
a1 . (x=3921.91, 0=1.94) E (x=3921.66, 0=2.19)
7] — Residual*s I| = Residual*s
- Trace 1 - Trace
- — - — e - — el el e e b - - e e e ol e — — — — — — - - - o e e e e — I — —— — = — — —
I.l T r-l -I T T T 1 T T —I[ T T T T
Y=2168 (dx=-8.8e-01, do=7.9e-01) =2409 (dx=-8.2e-01, do=7.1e-01) =2650 (dx=-7.3e-01, do=7.9e-01) Y=2891 (dx=-3.0e-01, do=8.9e-01)
e I = ” T ” I pfsArm I pfsArm T I “ ” pfsArm
I | |™ (x=3919.60, 0=121) . | | =™ (x=3919.68, 0=1.17) = (x=3920.14, 0=1.11)
=~ = (c:|=E3x9pls,7a, 0=1.92) = (c:f;gls.%,v:l,gﬂ 4 1 (c:‘f;;m.ss, 0=2.00)
1 pfsArm I | | = Resiauais 1| |— Resicuaits m— Residual*5
[~ (p3p19.72, 6=182) i I| = mace I |= mace - Trace
- 1C>?I:E3x§18.a4, 0=2.10) 1 7 1 J -
| = Residual*s 1 | T
- Trace u 1 1
- — el e L T - - e e wm e e — — I-l- — — - - el e — - — — I-l----- - - L E L 1 — — — -
A | [
T T T II T T II T T T
Y=3132 (dx=-9.0e-01, do=9.2e-01) Y=3373 (dx=-4.1e-01, do=1.1e+00) Y=3614 (dx=-5.0e-01, do=8.9e-01) Y=3855 (dx=-2.1e-01, do=2.0e-01)
| | O ” T J o ] } Y B
1 = (x=3922.02, 0=1.13) = (x=3923.61, 0=1.12) 1 = (x=3925.72, 0=1.14)
- 7 1 ™1 ?:5521.51,47:2.20; "T1 (c:f;gza.u, 0=2.01) - : "T1 (cf‘:E;gzs.so, 0=1.33)
e PfSArM 1 m—Residual*s m—Residual*s 1 m—Residual*5
e i e 1 - Trace ~ == Trace - — - Trace
H fff;gplg.ag, 0=2.13) - 1 | u 1 1 —_—
— Residuals 1 1
= Trace I L = I 1
1 _H._.H__..__-____- I | O 1 O ) N I I 8 {44-4-44 _HU-4-} 1 JHES R
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| 1 J 1
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f=1323, X=3917.9

Y=240 (dx=nan, do=nan) Y=481 (dx=-5.7e-01, do=6.6e-01) Y=722 (dx=-4.5e+00, do=nan) Y=963 (dx=-8.9e-01, do=1.1e+00)
T -
= :3;5::2:1' o=nan) 1 — r;igrgrgl.sg, 0=1.02) 1
— calExp 1 — alExp - 1
1 (x=3926.92, 0=2.06) (x=3917.19, 0=nan)
m— Residual*5 1 e PFSATM 7| == Residual*5 I —m PFSATM
- Trace i 1 (x=3924.26, 0=1.13) - 1 (x=3919.39, 0=1.17)
T I T (C:I=E3)(9pza.69, 0=1.80) - | = (C:‘:E;;l&so, 0=224)
1| |= Residuais ] L I| = Resiuairs
1 - Trace 1 = Trace
_ | 11711 -+-1rt-11- | I 1T | --------4-11H-*-r
T T T T 1 T T q -FI T T T
Y=1204 (dx=-9.0e-01, do=1.2e+00) Y=1445 (dx=-3.3e-01, do=9.0e-01) Y=1686 (dx=5.9e-02, do=9.5e-01) Y=1927 (dx=-4.2e-01, do=8.3e-01)
= —— T — — — r T
LJ Ji i r;igr;17.53, 0=1.18) T I “ ” 1 ”— ?:s:/;r;nmm 0=1.13) — |_I J i ?:s:gr;nls.os,aﬂ.u) | ” 1 — f:i/¥;n14.zz,a=1.1z)
i _ clExp 1 — alixp — alExp . 1 — calExp
(x=3916.63, 0=2.37) (x=3915.83, 0=2.03) (x=3915.11, 0=2.07) (x=3913.80, 0=1.94)
e Residual*5 I e Residual*5 = Residual*5 I e Residual*5
| - Trace 1 - Trace - Trace 1 - Trace
. I 7 | 7] 4 1
I 1 1
I 1 1
4 U__J1U_ L - [ O N I N 1 | N B N [ O I I O | N B I | J L _dd_Jdh__4
T [ T
T T 1 T T T T T T T 1 T T
Y=2168 (dx=-9.3e-01, do=8.0e-01) Y=2409 (dx=-7.2e-01, do=7.9e-01) Y=2650 (dx=-5.6e-01, do=8.6e-01) Y=2891 (dx=-8.4e-01, do=8.5e-01)
i — A3, 0117) | i 1 L\-I
. calExp 1 1
(x=3912.69, 0=1.97) : -
m— Residual*s pfsArm T pfsArm - pfsArm
Ll lce . = (x=3913.45, 0=1.12) = (x=3913.52, 0=1.11) = (x=3913.84, 0=1.18)
. i calExp calExp calExp
LI = (x=3912.73, 0=1.92) i = (x=3912.95, 0=1.97) = (x=3913.00, 0=2.03)
= Residual*5 = Residualt5 = Residual*5
- Trace = Trace - Trace
- — e e e — — — — - - — e e —— — — I_- — e — - - — — — I_- —— - = — — — e bl o e e o e
A
Y=3132 (dx=-5.9e-01, do=8.9e-01) Y=3373 (dx=-3.0e-01, do=5.8e-01) Y=3614 (dx=-2.3e-01, do=1.1e+00) Y=3855 (dx=-1.8e+01, do=nan)
pfsArm . I-rI T pfsArm I ” ” pfsArm N pfsArm
= (x=3914.61, 0=1.13) | |= x=3915.77, 0=1.10) = (x=3917.40, 0=1.09) = (x=3919.51, 0=1.07)
1 calExp | 1 calExp -~ - calExp calExp
(x=3914.02, 0=2.02) (x=3915.47, 0=1.68) (x=3917.17, 0=2.17) (x=3901.80, o=nan)
e Residual*5 -1 I e Residual*5 e Residual*5 7| — Residual*5
- - Trace I |= Tace - Trace - Trace -
(= 1 -
1 , 1l §
1 1
- - - e o — — — — - — e e e e e — I — — — - - e e e — — — = —
1 h 1
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Y=481 (dx=-9.3e-01, do=nan)

pfsArm
=== (x=nan, g=nan)

calExp
= (x=3862.41, 0=4.01)
— Residual*s

== Trace

pfsArm
=== (x=3863.08, o=nan)

calExp

= (x=3862.15, 0=1.40)

7| == Residual*s

== Trace

|

FE———

of

g

T T
Y=1204 (dx=8.5e-01, do=5.1e-01) Y=1445 (dx=-2.5e+00, do=nan)
I bsAm = IJ' bsAm
1 = (x=3855.33, 0=1.11) | ™ (x=3856.03, o=nan)
- 1 = (C:LEaxgss,ls, 0=1.62) — (cffsxgﬁs,ss, 0=1.91)
I = Residual*5 = Residual*5
1 - Trace - Trace
|
7 |
1
Il I II
- ===1-7- - 1 b e o o o 1-“1 -
T L T T -! 1 T r-l
Y=2168 (dx=-1.0e+00, do=1.5e+00) Y=2409 (dx=-1.7e-01, do=7.7e-01)
T pfsArm T pfsArm
1 = (x=3851.73, 0=0.63) 1 = (x=3851.31, 0=1.03)
1 calExp 1 calExp
= (x=3850.72, 0=2.09) = (x=3851.14, 0=1.80)
- : = Residual*5 : = Residual*5
= Trace - Trace
| |
| |
1 1
1 -FH=--H _4._ -44- 4=t dH - 1 _Ji_
al
I 1Lin n 1 :
Y=3132 (dx=-2.8e-01, do=1.1e+00) Y=3373 (dx=-4.3e-01, do=9.1e-01)
T pfsArm pfsArm
1 1 = (x=3852.34, 0=1.01) = (x=3853.37, 0=1.02)
| calExp calExp
= (x=3852.05, 0=2.12) = (x=3852.94, 0=1.93)
: e Residual*5 = Residual*s
- Trace - Trace
T |
|
1 .
- — - I — —— — -
1
1

-y -- —_— -

3840

3850

3840

3850

3860

Y=722 (dx=-1.2e+00, do=nan)

pfsArm
== (x=3859.98, o=nan)
calExp
= (x=3858.80, 0=2.29)
— Residual*s
== Trace

Jr p——

T

.1e+00, do=nan)

Y=963 (dx=3.4e-02, do=-9.0e-02)

|

pfsArm
= (x=3856.24, 0=1.86)
calExp
= (x=3856.28, 0=1.77)
— Residual*s
== Trace

Y=1927 (dx=-2.4e+00, do=-6.3e-02)

calExp
= (x=3854.05, 0=nan)
e Residual*5

== Trace

pfsArm
(x=3851.93, 0=1.84)

T

]

pfsArm
= (x=3852.45, 0=1.72)
calExp
== (x=3850.01, 0=1.65)
= Residual*5
= Trace

Y=2650 (

dx=-1.3e-01, do=1.1e+00)

pfsArm
= (x=3851.38, 0=0.95)

calExp
= (x=3851.25, 0=2.05)

e Residual*s

== Trace
i I_ | dHE3--4+-14-
Y=3614 (dx=-7.7e-01, do=1.2e+00)

pfsArm
= (x=3851.76, 0=0.78)

calExp
= (x=385129, 0=1.97)

e Residual*5

Y=

3855 (dx=nan, do=nan)

|

pfsArm
= (x=3854.93, 0=0.83)

calExp
= (x=3854.16, 0=2.04)
= Residual*5
= Trace

pfsArm

=== (x=nan, o=nan)
calExp

= (x=3855.95, 0=2.36)

e Residual*5

== Trace

3840

3850

3860

3870 3840

3850

3860 3870



